F.4 Mathematics (revision)

1. Simplify  
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A.     0
           B.    
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          E.    5


2.  Find the value of  x,  if     log x =
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(1 + 2 log 2 - log 5)

     A.    16                  B.    512

          C.    
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      D.    2
        E.    log 2

3.  To travel a distance of 100 km, a taxi takes 25 minutes less than a bus. If the speed of the bus

      is 12 km/h less than that of the taxi , find the speed of the bus.

     A.     30 km/h
 B.     40 km/h           C.     45 km/h
          D.     48 km/h 
         E.     60 km/h


4.  One of the roots of  3x2 + kx -2 = 0  is -2, the other root is

     A.    -3
         B.    -
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         E.    -
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5.  Given the graph of y = 
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 -3, then to solve the quadratic equation 
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 + 1 = 0,

which of the following linear graph should be drawn on the same graph ?

A. y = 4
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 + 4                    B.  y = 4
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C.  y = 5
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    D.  y = 4
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 - 4                     E.  y = 5
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6.   If  x  is real, the maximum value of  - x2 + bx + c   is

     A.
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 C. 4c - b2
    D.
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7.   If  4x2 - 12x + 2 + c  is a perfect square, then c =

     A.  8     
         B.  7
             C.  6

     D. -2

E.  2

8. Solve the equation ,  2x2 - 2x - 3 = 0

     A.  -1, 
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                                   B.  1, -
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9.  If  
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are the roots of  x2 + x + 4 = 0, find the equation with roots 
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     A.  x2 - x - 4 = 0

     B.  x2 + 2x + 6 = 0                          D.  x2 - x + 4 = 0

     C.  x2 - 2x + 6 = 0                           E.  x2 + x - 4 = 0

10.  Which of the following quadratic equation(s) has/have 2 unequal real roots ?

  (1)  2x2 - 5x - 4 = 0                 (2)  x2 + 3x + 9 = 0

  (3)  x2 - x - 1 = 0

     A. (1) only
         B. (2) only         C. (1), (2) only         D. (1), (3) only              E. All of these

11. If  32x + 9 = 10 (3x) , then    x2 + 1 =

        A. 10          
   B. 2                       C. 1
              D. 5    
       E.  1 or 5

12.  If   f(x) = x + 2,  g(x) = 3x2 - 1,  find  g[f(-3)].

      A. -4

B. 2

   C. 4

    D. 74
           E. 14

13.  If   2x - y -2 = 0  and  x - y2 - 2y = 0, then  x =

      A. 0 or 
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 or -2
   C. 2 or -
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     D. -
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 or -1

E. -
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 or 
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14.  In the figure, TA, TB are tangents to the circle. If
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ATB =
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B. 1800 - 2
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C.  900 - 
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D.  900 - 
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E.  2
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15.  In the circle  ABCD with center O, AB:BC:CD:DA = 3 : 4 : 5 : 6 ,

        find 
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AOB. 

A. 200
B. 400
C. 500
D. 600
E. 800
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16.  In the figure, 
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 A + 
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 E =  

A. 1800
B. 2400
C. 2700
D. 3600
E. Cannot be determined

17.   In the figure, TA is a tangent to the circle. If TA = 7  and  TB = 5, 
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        find BC. (Hint : find a pair of similar triangles)

A. 
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D.  
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E.   6   
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In the figure, AC bisects 
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 A and meets BD at E. Of triangles 

        ADE, BCE and ABC, which are similar ?

A. 
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B. 
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C. 
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D. all three triangles

E. none of these.

19.    If 
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A. 2               B. -2                 C.  
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21.     The figure shows the graph of y = 3 cos 2x. The point P is
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22.    In the figure, sin A : sin B : sin C = 2.:.3.:.4. If AB = 8.4, find BC.

A.
4.2

B.
6.3

C.
7

D.
10.8

E.
14.4

23.    Circles A, B and C touch each other as shown in the figure. The radii of circles B and C are   

         both 1 cm and the radius of circle A is 3 cm. The area of the shaded region is
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24.    In the figure, OABC is a sector of radius r. If (AOC = 
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, find the area of the shaded part.
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D.
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25. In the figure, (ABM and (ACN are two equilateral triangles. Find the area of (ABM : the    

        area of (CAN.
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26.   In the figure, A and B are the positions of two boats. The bearing of A from B is


A.
S25(W. 

B.
S15(W.

C.
S65(W.

D.
N25(W.

E. N15(W.

27.   The figure shows a right pyramid with a square base. (VAB, (VBC, (VCD, and (VDA are     

        equilateral triangles. Find the angle between the plane VAB and the base ABCD correct to 3   

        significant figures.

[image: image93.jpg]



       A. 50.3(            B. 54.7(             C. 60(                 D.  64.5(                 E.  75.5(
28. The figure shows a cube. M is the mid-point of FG. Find the angle between the line AM and    

         the plane ABFE in degree measure correct to 1 decimal place.




A. 19.5(                B.
20.7(            C. 41.8(                D. 48.2(                  E.69.3(
29.   If (x + 1)2 + m(x +2) ( n ( x2 ( 4x ( 7 , then

A.
m = (6, n = (4.                     B.
 m = (4, n = 6.                       C.  m = 2, n = 4.

D.
m = (2, n = 6.                       E.  m = 4, n = -2.

30.   If a polynomial f (x) is divisible by x.+.1, then f (x - 1) is divisible by

A.
x.                               B.  x ( 1.                        C.  increased by 25%

D.
x + 1.                         E.  x + 2.

31.   The H.C.F. and L.C.M. of three expressions are xyz2 and x3y4z4 respectively. If two of the 

expressions are x2y2z3 and x3y4z2, find the third expression.

A. x3z2                 B. x3y4z3          C.
x2y2z2                 D. xz4                    E. xyz4
32. Simplify 
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 then x : y : z =

A. 3 : 2 : 1.                      B.  2 : 3 : 1.                      C.  6 : 3 : 2.

D.
2 : 3 : 6.                      E.  1 : 2 : 3.

34 The ratio of the present ages of a mother and her daughter is 4 : 1. Four years before, the   

ratio of their ages was 8 : 1. What will be the ratio of their ages in two years time?

A. 2 : 1            B. 3 : 1              C. 5 : 2            D.
7 : 2                 E. 10 : 3

35.  If x ( 
[image: image101.wmf]y
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 and x (  z2, find the percentage change in y when z is increased by 25%.

     A.  decreased by 30%                B.  decreased by 36%              C. increased by 25%

     D.  decreased by 40%                E.  increased by 36%

36. Given that p and q are non-zero constants, which of the following equations shows that y is 

        partly constant and partly varies directly as the square of x?

A.
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ANSWERS

1.  C

6.  E

11.  E

16.  D

21.  B

26.  C

31. E

2.  D

7.  B

12.  B

17.  B

22.  A

27.  B

32. A 

3.  D

8.  D

13.  A

18.  B

23.  B

28.  A

33. C

4.  C

9.  D

14.  D

19.  A

24.  A

29.  A

34. E

5.  D

10. D

15.  D

20.  D

25.  D

30.  A

35. B
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